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UNIVERSITY OF NORTH BENGAL

B.Com. Programme 3rd Semester Examination, 2023

DSC6-COMMERCE
CORPORATE ACCOUNTING

OLD SYLLABUS

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
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Answer any fwo questions 12x2 =24
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1. ABC Ltd. made an issue of 10,000 Equity Shares of Rs. 15 each payable as: Rs. 4 12

per share on application; Rs. 7 per share (including Rs. 2 as premium) on
allotment; and Rs. 6 per share on first and final call.

X holding 50 shares failed to pay the allotment and call monies and Y holding 80
shares failed to pay the call money. These shares were forfeited and re-issued to Z
as fully paid-up @ Rs. 7 per share.

Pass Journal Entries (including cash transactions) to record the above issue,
forfeiture and re-issue of shares in the books of ABC Ltd.

2. The Balance Sheets of X Ltd. and Y Ltd. as at 31.03.2016 include the following: 7+S5
X Ltd. (Rs.) Y Ltd. (Rs.)
Equity Share Capital (Rs. 100 each, fully paid) 1,00,000 60,000
Trade Creditors 10,000 8,000
Plant & Machinery 1,10,000 50,000
Inventories 16,000 8,000
Sundry Debtors 14,000 9,000
Cash 3,000 1,000
Land & Building 30,000
General Reserve 34,000
Dividend Equalization Fund 4,000
Profit & Loss Account (Cr.) 2,000
6% Debentures 20,000
Employees P.F. 3,000
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3. (a)

(b)
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In April 2016, the two companies agree to amalgamate and form a new company
called Z Ltd. with authorized capital of Rs. 10,00,000, consisting of 1,00,000
Equity Shares of Rs. 10 each. The purchase consideration is agreed at
Rs. 1,20,000 and Rs. 60,000 for X Ltd. and Y Ltd. respectively, payable in fully
paid shares in Z Ltd. In return of debentures in X Ltd., debentures of the same
amount and denomination are to be issued by Z Ltd.

Give Journal Entries in the books of Z Ltd. Also prepare the Opening Balance
Sheet of Z Ltd.

Discuss the important factors to be taken into consideration in valuing goodwill.

Goodwill T Heaieh Rl THY LT H XY ST dTel Heqqui iRepi IR 2l v |

FAICR I Face ([ wmrgelel K ooy w1 8w 9
Goodwill-T edTge-T1T & o FEwqUl PRHEw BeTthel T |

Following particulars of a company are available:

Equity share capital: 10,000 shares of Rs. 10 each, fully paid

Preference share capital: 1,000, 12% shares of Rs. 100 each, fully paid
Reserve & Surplus: Rs. 15,000

Creditors: Rs. 18,000

The average normal profit (after tax) earned by the company: Rs. 28,500
Profit transferred to General Reserve: 10%

Normal rate of return on equity shares: 10%

Compute the value of equity shares of the company under yield method.

Following is the summarized Balance Sheet of X Ltd. as at 31.12.2001

Liabilities Rs. Assets Rs.
Equity Share Capital | 5,00,000 | Land & Building 3,45,000
Pref. Share Capital 2,00,000 | Plant & Machinery 2,20,000
Profit & Loss A/c 1,10,000 | Investment (Long term) | 80,000
Creditors 60,000 | Stock 70,000
Bills Payable 20,000 | Debtors 60,000
Bank Overdraft 40,000 | Bills Receivable 31,000
Proposed Dividend 25,000 | Prepaid Expenses 13,000
Provision for Tax 15,000 | Bank Balance 98,000
Outstanding Expenses | 17,000 | Cash 62,000

Preliminary Expenses 8,000
9,87,000 9,87,000

Compute: (i) Current Ratio; (ii) Liquid Ratio; (iii) Absolute Liquidity Ratio;
(iv) Stock to Current Assets Ratio; (v) Current Assets to Working Capital Ratio
and (vi) Stock to Working Capital Ratio.

4+8

2x6=12
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5. Answer any four questions: 6x4 =24
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(a) The share capital of a company consists of 10% Redeemable Preference Capital
of Rs. 1,00,000 (1,000 shares of Rs. 100 each, fully paid). The company has
credit balances in: Capital Reserve A/c: Rs. 50,000; Securities Premium A/c:
Rs. 50,000; General Reserve A/c: Rs. 75,000 and Profit & Loss A/c: Rs. 35,000.

The company decides to redeem the preference shares at par. Pass Journal Entries
(including cash transaction) in the books of the company.

(b) Calculate Net Cash Flow from operating activities from the following Profit & 6
Loss Account:

Rs. Rs.

Salaries 7,000 | Gross Profit 26,000
Rent 5,000 | Profit on sale of land | 4,500
Provision for Bad debt | 1,000 | Income tax refund 1,500
Depreciation 1,500
Goodwill w/o 1,250
Loss of sale of plant 750
Provision for tax 3,000
Proposed dividend 3,500
Net profit 9,000
32,000 32,000

(c) What is ‘Minority Interest’? How would you evaluate it? 2+4

AU f&T T & ? MY SHDT eI b Bl 2
Minority Interest & ¢ 9fsl eI @3 eT1T T2 ¢

YD foct b &l ? THCTS HAR! HedTGhT {50 ?
(d) What are the advantages of Accounting Ratios? 6

TG SIUTC b AT AT & 2

Accounting Ratio-«3 jfRaiefe i 5 ¢
Accounting Ratio &1 ATE® & g7

(e) Distinguish between debentures and shares. 6
SRUIOH Tg 79T & dTar 3R & |
fEaeere @ Coaniearl e~y fershviel 11
Debenture 31 Share &2 f=¥dT ?@j BN |
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Discuss the need for valuation of shares of a company.
et Uit & 32T} o HedTehT el JATRIDAT TR T X |
G5 AT IR SEHCAS SRS S5 F1
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GROUP-C / eti-o / @=s-T
Answer any four questions:
fh=el TT¥ U8l b1 IR S
(- BIAG &ivea Ted nies
P FIRGCT THDT IR I
What is Bonus Shares?
Y ST FTE ?
Bonus Share & ¢
Bonus share & & ?
Mention any three ratios to judge long term solvency of a company.
fepelt huil T SeiepTicied QMG & BT 3ATDer DR b fof febeal I STIUTCl b
ool PN |
9T AR Rl Fveetel Rl FH00 2ie @3+ foq(b Seeie Srad 741
HETep] ST =R T P T ratiod® ool Tar |
What is Contingent Liability?
SATehRHD TR T 8 2
Contingent Liability % 2
Contingent liability & & ?

Define Holding Company.

IR Tt huT T TR P |
Holding Company—&< Jesl W€ |
Holding company &1 GRTST ?@jﬁ?{ |

What is ‘Purchase Consideration’?

T UfThel T & ?

Purchase Consideration & ?

Purchase Consideration =T & & ?

State the concept of ‘Funds from Operation’.
HATTT I G T TR FAT |

‘Funds from Operation’-&3 7ol & <=1
Funds from Operation concept 3ceid ‘T:Tﬁ?{l

X

3x4=12



